
 2017 Online Exam Review

Eduqas GCSE Mathematics Component 2 Foundation C300U20-1

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1497 5.3 1.8 7 75.9 99.9
2 1331 0.9 0.9 2 43.5 88.8
3 1479 2.8 1.1 4 69.8 98.7
4 1473 0.9 0.8 2 44.8 98.3
5 1441 2.3 1.4 4 58.6 96.2
6 1451 0.5 0.8 2 23.8 96.9
7 1454 3.4 1.4 5 67.6 97.1
8 1377 0.7 0.9 2 33.4 91.9
9 1271 0.6 1.2 4 16 84.8

10 1371 3.3 2.5 6 54.7 91.5
11 1415 2.4 1.4 5 48 94.5
12 1112 1.3 1.4 3 42.1 74.2
13 1233 1.8 1.3 3 61.3 82.3
14 1231 1.1 1.4 3 37.9 82.2
15 1326 1.8 1.7 4 45.5 88.5
16 1261 0.4 0.7 2 21.4 84.2
17 1294 1.4 1.4 3 45.3 86.4
18 1231 1 1.1 3 34.2 82.2
19 1336 1 1.7 4 25.9 89.2
20 1007 1.4 1.6 4 34.1 67.2
21 1142 2.1 2 6 35.4 76.2
22 1182 1.1 1.7 5 21.3 78.9
23 985 1 1.4 4 24.2 65.8
24 1193 0.8 1 3 27.1 79.6
25 1044 0.5 1.1 3 17.8 69.7
26 984 0.3 0.5 1 30.9 65.7
27 1118 0.3 0.6 4 6.7 74.6
28 1240 0.5 1 3 17.6 82.8
29 1332 2 1.5 5 40.4 88.9
30 1035 0.3 0.6 2 13.8 69.1
31 981 0.2 0.7 3 8.1 65.5
32 1077 0.6 1.2 5 11.6 71.9
33 989 1 1.5 4 24.6 66
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Eduqas Summer 2017 
GCSE (9-1) Mathematics  


Component 2: Foundation Tier 
Mark Comments 


6. ‘Greater’ circled AND valid evidence 
      e.g. ‘the perimeter has increased from      
      36cm to 46cm’ or equivalent, ‘two extra  
       5cm lengths added’ ‘two extra sides’ 
 


E2 
 
 


Award E1 for ‘greater’ circled and an 
incomplete reason given OR sight of 36(cm) 
and 46(cm). 


7. (a)    3p B1 
 


 


7. (b)   8a + 2b B2 B1 for sight of either 8a or 2b. 
Mark final answer.  
Must be an expression to gain the B2. 


7. (c)   6c B1 
 


 


7. (d)   3a + 18 B1 
(5) 


 


Mark final answer.  
 


8. 0.6(00), (0.615), (0.65(0)), 0.667 
 


       


     60%    0.615    0.65     
2


3
        or equivalent 


M1 
 
 


A1 
 
 


(2) 
 


For converting all numbers into a form for 
comparison. 
Accept sight of 0.66 or better for 


2
/3. 


Allow M1 A1 for a correct unsupported answer. 
 
SC1 correct order, but reversed. 


9. (a) Explanation. E.g. ‘whole cubes need to fit 
into the box’, ‘can only fit 3 layers’, ‘7 is an odd 
number so some space would be left’ or ’he 
hasn’t used the dimensions of the box’.  
‘2 doesn’t go into 7 exactly’ 
 


E1  


9. (b) Explanation. e.g. ‘the answer is too big’ or 
‘the number of cubes will be smaller’ 
‘he has calculated too many’ 
 


E1 Do not accept ‘his answer is incorrect’ 


9. (c) (number of cubes =) 4 x 5 x 3 
                                      = 60 


M1 
A1 
(4) 


 
Answer of ‘60’ implies M1A1 


10. For Team Beta: 
    (160 x 4.60 = £)736 
    0.75 x 160 x 5.2(0) (= £624) 
    0.25 x 160 x 3 (= £120) 
     
    Total income (£)744 
 
    Profit for Team Beta is (744 – 736 =) (£)8 
 
    Team Axis won, by £2 


 
B1 
M1 
M1 


 
A1 


 
B1 


 
E1 


 
 
 
 
 
 
 


(6) 


 
 
Or equivalent 
Or equivalent 
FT (160 – ‘their 120’) × 3 
May be implied by later working. 
 
FT 'their 744' – 'their 736' provided at least B1 
or M1 awarded. 
FT difference between £10 and 'their £8’, 
provided that the final B1 has been awarded. 
Final answer must have unit shown. 
Alternative method: Considering profit 
(Profit per toy sold for £4.60 is £5.20 – £4.60 = 
£)0.60 AND              
(Loss per toy sold for £3 is £4.60 - £3 
=£)1.60                                                           B1 
0.75 x 160 X 0.60                                          M1 
0.25 x 160 x 1.60                                          M1 
(£)72 and (£)64                                             A1 
(Profit for Team Beta = £72 – £64 =£)8        B1 
Team Axis won, by £2                                   E1 


11. (a) Explaining that there is no mode. 
e.g. ‘no number appears more than the others’ 
‘there is more than one mode’ 


E1 
 


Allow explanations that consider the mode 
such as ‘there are two 6s, 7s and 9s’. 












Sticky Note

The correct response for this question is 'Greater' with a correct reason given. For a correct reason we need to see some comparison with the old and new perimeters.








Sticky Note

In this example, the candidate has selected the correct answer. E1 has been awarded because the candidate has made reference to the additional side but did not make a detailed enough explanation. It would have been better to have stated the perimeters before and after the move.








Sticky Note

This candidate has selected the correct answer, but has not given an explanation worthy of any marks - especially as 'area' is referred to instead of 'perimeter' indicating that the question has not been understood.
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	 (c)	 8z + 13 = 27	 [2]


	


	


	


6.	 The diagram shows a company logo.
	 It is made by removing a square from a rectangle and replacing it as shown.


Diagram not drawn to scale


	 Is the perimeter of the logo greater, smaller or the same as the perimeter of the original rectangle?
	 Circle your answer.


Greater                          Smaller                          The same


	 Give a reason for your answer.	 [2]


	


	


	


	


13 cm


5 cm
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Eduqas Summer 2017 
GCSE (9-1) Mathematics  


Component 2: Foundation Tier 
Mark Comments 
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       5cm lengths added’ ‘two extra sides’ 
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May be implied by later working. 
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11. (a) Explaining that there is no mode. 
e.g. ‘no number appears more than the others’ 
‘there is more than one mode’ 


E1 
 


Allow explanations that consider the mode 
such as ‘there are two 6s, 7s and 9s’. 
















Sticky Note

As with many candidates, there has not been an attempt to work with the dimensions of the box. If candidates realise that they can fit 4 cubes along the width of the box, 5 along the depth and 3 along the height, then they can quickly work out 4 x 5 x 3 and obtain the correct answer of 60.
















Sticky Note

20 on the bottom layer is correct, however, this has not been multiplied by 3 to get the method mark. Without method, there can be no follow through mark.



Sticky Note

Sadly, a common wrong answer - the answer given is actually too big.
















Sticky Note

A typical 'nondescript' response with the candidate not declaring that the answer is bigger or smaller, just 'incorrect'. The answer is that the given answer is too big.



Sticky Note

Correct method and answer of 60.
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9.	 Jack has been set this problem by his teacher.
	 ‘How many cubes with sides of length 2 cm will fit inside the box?’


Diagram not drawn to scale


	 The box is a cuboid with the measurements shown.


Diagram not drawn to scale


	 Jack has worked out that:


2 cm


8 cm


10 cm


7 cm


The volume of the cube is 8 cm3.
The volume of the box is 560 cm3.
	 560 ÷ 8 = 70
So 70 cubes will fit inside the box.


	 Jack’s teacher has checked his work and told him that all his calculations are correct but his 
answer to the problem is wrong.


	 (a)	 What is wrong with the method Jack used?	 [1]


	


	


	


	


Cube


Box
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	 (b)	 What effect has Jack’s method had on his answer to the problem?	 [1]


	


	


	 (c)	 Calculate how many cubes will fit inside the box.	 [2]
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Eduqas Summer 2017 
GCSE (9-1) Mathematics  


Component 2: Foundation Tier 
Mark Comments 


20. (b)  3n – 2 = 1000 
             (n=) 334 (whole number therefore yes) 
           ‘1000 is the 334


th
 term’ or equivalent 


 


M1 
A1 


 
 
 
 
 
 
 
 
 


(4) 


 


An answer of 334 implies the M1 mark. 
 
Alternative methods: 
Trial and improvement: 
B2 for 334.  B1 for at least two correctly 
evaluated trials with 300<n<400. 
Logic: 
e.g. 1002 is a multiple of 3   B1 
so 1002 is in the sequence 3n,  
so 1000 is in the sequence 3n – 2.  B1 
 


21. (a) v = 53 + (– 4) x 6 
           v = 29 


M1 
A1 


Accept embedded answers throughout Q21 


21. (b)  20 = u + 2 x 6 
              u = 8 


M1 
A1 


 


21. (c) v – u = at 
                 t = (v – u)/a 


M1 
A1 


 
 


(6) 


 
 
If no marks, award SC1 for an answer of  
t = (v + u)/a 


22. (a) 2015     1000 × 0·92 (=920) 
 
           2016      1000 × 0·92 × 0·97  
                           892.4(kg) 


M1 
 


M1 
A1 


 


Or equivalent full method.   
Allow in reversed order (× 0·97 × 0·92) 
FT ‘their 920’ 
CAO 


22. (b) (1000 – 892·4)/1000 (× 100) 
              
 = 10·76 (%) 
 


M1 
 


A1 
 


(5) 
 


Or equivalent full method.   
FT ‘their 892·4’ 
 
 
 
 
 


23. (a) Appropriate uniform scale on vertical    
           axis 
           At least 2 correct points calculated 
            
         Markers may find these useful: 


x -2 -1 0 1 2 3 


y 1 3 5 7 9 11 


 
           Fully correct graph of y = 2x + 5 
 


B1 
 


B1 
 
 
 
 
 


B1 


 
 
Or use of y = mx + c with line starting from 
(0,5) with gradient 2 
 


23. (b) Yes, the gradients are the same (3) E1 
 


(4) 


Accept e.g. Yes, because ‘same slope’ 
Accept Yes, because m = 3 or ‘both 3x’. 


24. (x =) 75 (°) 
    (y =) 73 (°) 
 
 


B1 
B2 


 
 
 


(3) 
 


 
B1 for sight of 180 – 75 – 32, or 180 – 107,  
180 – 75 – (180 – 100 - 48), or 
180 – (360 – 100 – 48 – (180 – 75)) 
 












Sticky Note

11% was the VERY common incorrect response, obtained by simply adding 8% and 3%. Correct method to get the answer 10.76% rarely seen.



Sticky Note

Commonly, candidates did as this one, not managing to reduce by a further 3%.



Sticky Note

Obtaining the first M1 mark for correct reduction by 8%.








Sticky Note

This candidate did not gain the first M1 for a correct reduction by 8%. They therefore failed to get any further towards the correct final answer of 892.4kg.



Sticky Note

Again, the incorrect method of simply adding the percentages.








Sticky Note

This candidate, although they have used their earlier work, does not use the correct method, therefore no follow through marks awarded.



Sticky Note

This candidate has made the mistake of adding the two percentages together from the start, instead of the compound percentage change approach. 
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22.	 Wellbuilt Caravans decided to reduce the mass of their caravans to make them easier to tow 
behind modern lightweight cars.


	 In 2015, they reduced the mass of their caravans by 8%.
	 In 2016, they reduced the mass of their caravans by a further 3%.


	 The original mass of a WB1 caravan was 1000 kg.


	 (a)	 What is the mass of a new WB1 caravan after both the reductions?	 [3]


	


	


	


	


	


	 (b)	 What percentage of the original mass was the caravan reduced by?	 [2]


	


	


	





















Sticky Note

This candidate's response was actually one of the better ones. There was an attempt to draw and complete a sample space diagram, and on this, the candidate indicated the possible outcomes 11,22,33,44 and 55. This scores M1.





















Sticky Note

This candidate's response indicates that they know there are 30 possible outcomes, for which M1 was awarded.





















Sticky Note

On this response, there are 30 possible outcomes listed, which scores M1. If the candidate had circled the outcomes where both numbers were the same it would have scored M2.
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Eduqas Summer 2017 
GCSE (9-1) Mathematics  


Component 2: Foundation Tier 
Mark Comments 


29.(d) Answer in the range  
£0.65 to £1.20 or 65p to 120p 
with correct unit given 
 


B1 
 
 


(5) 


Do not accept in correct units, e.g. 0.87p 
Allow, e.g. £0.87p 


30.  2x
2
 – 7x - 15  B2 


 
 
 
 
 


(2) 
 


B1 for 2x
2
 – 10x  + 3x – 15 or  


B1 for FT correct collection of like terms 
provided at least 3 of the 4 terms are correct 
 
If no marks, award SC1 for answers of 2x


2
 – 


13x – 15 or 2x
2
 + 13x - 15 


 


31.       Diagram or listing to show all  
            the possible outcomes. 
 
      e.g. 
 
 
 
 
 
 


 
           
          = 


5
/30 (= 


1
/6)           


 1 2 3 4 5 


1 11 12 13 14 15 


2 21 22 23 24 25 


3 31 32 33 34 34 


4 41 42 43 44 45 


5 51 52 53 54 55 


6 61 62 63 64 65 


M2 
 
 
 
 
 
 
 
 
 
 
 


A1 
 
 
 
 
 
 
 


(3) 


M1 for identifying 11, 22, 33, 44, 55. 
M1 for identifying that there are 30 possible 
outcomes. 
 
 
 
 
 
 
 
 
 
CAO  
 
Alternative MS: 
Probability of both landing on the same 
particular number = 


1
/5 x 


1
/6                      M1 


Probability of both landing on any same 
number = 5 x 


1
/5 x 


1
/6                                M1 


= 
5
/30 (= 


1
/6)                                               A1 
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31.	 Huw and Catrin are playing a game where Huw rolls an ordinary six-sided dice and Catrin spins 
a fair five-sided spinner, numbered 1, 2, 3, 4 and 5 as shown.


	 Show that the probability that they both show the same number is      .	 [3]
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1 2


3
4


5


1
6







